
  

   Reg. No. : ..........................................  

Code No. : SS 20464 B Sub. Code : SNCO 4 A 

U.G. (CBCS) DEGREE (Special Supplementary) 
EXAMINATION, APRIL 2020. 

Fourth Semester 

Commerce  

Non Major Elective — FINANCIAL ACCOUNTING  

(For those who joined in July 2017 onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10 × 1 = 10 marks) 

Answer ALL questions. 

 Choose the correct answer : 

1. \μõ\› uÁøn |õøÍ PnUQkÁuØPõÚ Ai¨£øh 
÷uv ___________ C¸UP»õ®. 

 (A) •uÀ ÷uv¯õP  

 (B) Pøh] ÷uv¯õP 

 (C) Cøh°À EÒÍ ÷uv¯õP  

 (D) G¢u ÷uv¯õPÄ® 
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 The base date for calculating Average due date 
should be   

 (a) First date  (b) Last date 

 (c) Middle date  (d) Any date 

2. \μõ\› uÁøn |õÒ ÷uvUS ¤ÓS £n® 
ö\¾zxÁx Gß£x ___________ Ámi CÇ¨¤øÚ 
HØ£kzx®. 

 (A) PhÚõÎUS 

 (B) PhÜ¢÷uõ¸US 

 (C) £[Suõμ¸US 

 (D) (A) ©ØÖ® (B) C¸Á¸ÁUS® 

 Payment after Average due date results in Lose of 
interest to ––––––––––– 

 (a) Debtor (b) Creditor 

 (c) Shareholder (d) Both (a) and (b) 

3. Á[QU \›Pmk® £mi¯À Gß£x ___________ 
BS®. 

 (A) Kº AÔUøP  

 (B) J¸ ÷£÷μmk PnUS 

 (C) öμõUP Hmiß J¸ £Sv 

 (D) |hÁiUøP°ß J¸ £Sv 
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 Bank Reconciliation Statement is –––––––––––  

 (a) a Statement  

 (b) a Ladger account  

 (c) a part of cash book  

 (d) a part of transaction  

4. Á[Qa \›Pmk® £mi¯À AÔUøP ___________ 
EÒÍ ÷ÁÖ£õmiøÚ APØÓ u¯õ›UP¨£kQÓx. 

 (A) öμõUP ¦zuPzvÀ  

 (B) ö\À÷»mk ¦zuPzvÀ 

 (C) öμõUP ¦zuP® ©ØÖ® ö\À÷»mk ¦zuPzvÀ 

 (D) ö£ÖuØS›¯ ©õØÖa ^mk ¦zuPzvÀ 

 Bank Reconciliation Statement is prepared to 
eliminate the difference in ––––––––––– 

 (a) Cash Book  

 (b) Pass Book 

 (c) Both Cash Book and Pass Book  

 (d) B/R Book 

5. uõ÷Ú C¸¨¦ PmiU öPõÒÐ® •øÓ ___________ 
ÁoPzvÀ AÔ•P¨£kzu¨£kQßÓx. 

 (A) ]Ô¯ AÍÂ»õÚ 

 (B) ö£›¯ AÍÂ»õÚ 

 (C) |kzuμ AÍÂ»õÚ 

 (D) ÷©ØTÔ¯ AøÚzx® 
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 Self–balancing can be introduced in ––––––––––– 
business. 

 (a) Small Size (b) Large Size 

 (c) Medium Size (d) All the above  

6. uõ÷Ú C¸¨¦ PmiU öPõÒÐ® •øÓ Gß£x 

 (A) ÷£÷μmiøÚ £μõ©›UP 

 (B) C¸¨£õ´ÂøÚ u¯õ›UP 

 (C) C¸¨¦{ø»U SÔ¨¤øÚ u¯õº ö\´¯ 

 (D) {ø» AÔUøP°øÚ u¯õº ö\´¯ 

 Self – balancing is a system of  

 (a) Keeping Ledgers   

 (b) Preparing trial balance  

 (c) Preparing balance sheet   

 (d) Preparing statement of affairs  

7. ÷u´©õÚ ö\¯À•øÓ Gß£x ___________ 

 (A) ö\»ÄPøÍ JxURk ö\´¯ 

 (B) ö\õzxUPøÍ ©v¨¥k ö\´¯ 

 (C) \›£õº¨¦ ö\´¯ 

 (D) ÷©ØTÔ¯ AøÚzx® 

 Depreciation is the process of ––––––––––– 

 (a) Allocation of cost (b) Valuation of assets  

 (c) Verification  (d) All the above  
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8. SøÓ¢x ö\À ©v¨¦ •øÓ ___________ 
÷|õUPzvØPõP £¯ß£kzu¨£kQßÓx. 

 (A) ö\»ÄPøÍ SøÓUS® 

 (B) ÷\øÁ 

 (C) Á›  

 (D) ÷©»õsø© PnUQ¯À 

 Diminishing balance method is used for –––––––– 
purposes. 

 (a) Cost Reduction  

 (b) Service  

 (c) Tax   

 (d) Management Accounting  

9. C¸¨£õ´Ä u¯õ›UP¨£kÁx ___________ SøÓUP 
EuÂ ¦›QÓx. 

 (A) Âk ¤øÇø¯ (B) ö\´ ¤øÇø¯ 

 (C) Âv¨ ¤øÇø¯ (D) Dk ö\´ ¤øÇø¯ 

 Preparation of trial balance helps in detection of  
––––––––––– 

 (a) Error of Ommission  

 (b) Error of Commission  

 (c) Error of Principle  

 (d) Compensating Error  
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10. C¸¨£õ´Ä Ehß£õmøh £õvUPõu ¤øÇPÒ 

___________ BS®. 

 (A) £Sv Âk ¤øÇPÒ  

 (B) AvP©õPU TmkuÀ ¤øÇPÒ 

 (C) SøÓÁõPU TmkuÀ ¤øÇPÒ 

 (D) Âv¨ ¤øÇPÒ 

 Errors not affecting the agreement of trial balance 

are  

 (a) Error of partial omission   

 (b) Error of overcasting  

 (c) Error of under casting   

 (d) Error of principle 

PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 250 words. 

11. (A) Gk¨¦ «x Ámi G¨£i }Âº PnUQkÁõ´? 

  How do you calculate Interest on drawings? 

Or 
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 (B) _S©õº Gß£Áº RÌUPõq® öuõøPPøÍ 

ußÝøh¯ Â¯õ£õμzvÀ C¸¢x GkzxU 

öPõshõº. 

÷uv öuõøP 

¹. 

15.01.2019 10,000 

06.03.2019 15,000 

21.05.2019 5,000 

24.06.2019 10,000 

    \μõ\› uÁøn |õøÍU PnUQkP. 

  Sugumar draws the following amounts from 

his business 

Date Amount 

Rs. 

15.01.2019 10,000 

06.03.2019 15,000 

21.05.2019 5,000 

24.06.2019 10,000 

  Find out the Average due date.  
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12. (A) RÌUPõq® ÂÁμ[PøÍ öPõsk 
v¸ÁõÍºPÒ Cßö£sm uÛ {Ö©zvß áúß 
30 2016® |õÐUPõÚ Á[Q \›UPmk® 
£mi¯À u¯õ›UP 

  (i) öμõUP Hmiß £i ÷©À Áøμ¨£ØÖ 
¹.11,045 

  (ii) ÷©ÀÁøμ¨£ØÔß «uõÚ Ámi ¹.1,211 
Á[Q¯õÀ £ØÖ øÁUP¨£mhx 

  (iii) áúß 30, 2016 Âkzu Põ÷\õø»PÒ 
£n©õUP¨£hõuøÁ ¹.1,500 

  Prepare a Bank Reconciliation Statement as 
at June 30, 2016 for Mr. Infant Sales private 
limited for the information given below : 

  (i) Bank overdraft as per cash book 
Rs.11,045 

  (ii) Interest on overdraft debited by bank 
Rs.1,211 

  (iii) Cheque issued on June 30, 2016 but not 
yet presented for payment Rs.1,500. 

Or 

 (B) Á[Q \›UPmk® £mi¯¼ß •UQ¯zxÁ® 
¯õøÁ? 

  What are the importance of Bank 
Reconciliation Statement? 
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13. (A) RÌUPsh ÂÁμ[PøÍU öPõsk ö©õzu 
öPõÒ•uÀ PnURk ö\´¯Ä®. 

     ¹. 

  öμõUP öPõÒ•uÀ  17,000 

  H¨μÀ 1, 2015 AßÖ PhÜ¢÷uõº 8,000 

  PhÜ¢÷uõ¸US AÎzu öμõUP® 31,000 

  öPõÒ•uÀ v¸¨£® 1,000 

  ©õºa 31, 2016 AßÖ PhÜ¢÷uõº 13,400 

  From the following particulars calculate the 
Total Purchases. 

     Rs. 

  Cash purchases  17,000 

  Opening creditor April 1, 2015 8,000 

  Discount allowed to creditors 31,000 

  Purchase return  1,000 

  Closing creditors March 31, 2016 13,400 

Or 
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 (B) RÌPsh ÂÁμ[PøÍ öPõsk 
AÆÁõsiØS›¯ ö©õzu ÂØ£øÚø¯U 
PnUQkP. 

     ¹. 

  01.04.2014 AßÖ £Ø£» PhÚõÎPÒ 20,400 

  £Ø£» PhÚõÎPÎhª¸¢x   

 ö£Ó¨£mh öμõUP®  60,800 

  ÂØ£øÚ v¸¨£®  5,400 

  31.03.2015 AßÖ £Ø£» PhÚõÎPÒ 27,600 

  öμõUP ÂØ£øÚ   56,800 

  From the following particulars calculate the 

Total Sales 

     Rs. 

  Opening Debtors on 01.04.2014 20,400 

  Cash received from Sundry Debtors 60,800 

  Sales Return  5,400 

  Closing debtors on 31.03.2015 27,600 

  Cash sales   56,800 
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14. (A) J¸ {ÖÁÚ® ¹.40,000 ©v¨¦ÒÍ 

C¯¢vμzøu Áõ[Q¯x. {ÖÄuÀ ö\»ÁõP 

¹.2,000 ÷©ØöPõshx. C¯¢vμzvß 

Gvº÷|õUS® £¯ÚÎ¨¦ Põ»® 5 BskPÒ. 

÷|º÷Põmk •øÓ°À Bskz ÷u´©õÚz 

öuõøPø¯ PnUQkP. 

  A firm purchased a plant for Rs.40,000. 

Erection charges amounted to Rs.2,000. 

Effective in the plant is 5 years. Calculate 

the amount of depreciation per year straight 

line method. 

Or 

 (B) J¸ {ÖÁÚ® ¹.50,000 ©v¨¦ÒÍ Pmhh® 

JßøÓ Áõ[Q¯x. Pmhhzvß £¯ÚÎ¨¦ 

Põ»® 10 BskPÒ. ÷©¾® Auß CÖv 

©v¨¦ ¹.2,000. ÷|º÷Põmk •øÓ°À 

÷u´©õÚz öuõøP ©ØÖ® ÷u´©õÚ ÂQu® 

PnUQkP. 

  A company purchased a building for 

Rs.50,000. The useful life of the building is 

10 years and the residual value is Rs.2,000. 

Find out the amount and rate of 

Depreciation under Straight line method. 
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15. (A) ¤ßÁ¸® ¤øÇPÎß JÆöÁõßÔ¾® 
£õvUS® PnUS / PnUSPøÍU TÓÄ® : 

  (i) PhÝUS \μs¯õÂhª¸¢x ¹.150 US 
\μUS Áõ[Q¯x. AÁμx PnUQÀ 
£ØÖ¨£UP® GkzöuÊu¨£mkÒÍx 

  (ii) öPõÒ•uÀ Hmiß ö©õzu® ¹.4,500 
C¸•øÓ ÷£÷μmiÀ Gkzx 
GÊu¨£mkÒÍx. 

  State the accounts affected in each of the 
following errors : 

  (i) Goods purchased on credit from 
Saranya for Rs.150 was posted to the 
debit side of her account 

  (ii) The total of purchases book Rs.4,500 
was posted twice. 

Or 

 (B) ¤ßÁ¸® JÆöÁõ¸ ¤øÇ°¾® 
£õvUP¨£mkÒÍ PnUSPøÍU TÓÄ® 

  (i) Áõ_ÄUS ¹.1,000 PhÝUS \μUS 
ÂØÓx ÂØ£øÚ HmiÀ £vÄ 
ö\´¯¨£hõ©¾ÒÍx 

  (ii) öPõÒ•uÀ Hmiß ö©õzu® ¹.2,500 
C¸•øÓ ÷£÷μmiÀ 

GkzöuÊu¨£mkÒÍx. 
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  State the accounts affected in each of the 

following errors : 

  (i) Goods sold to Vasu on credit for 

Rs.1,000 was not recorded in sales book 

  (ii) The total of sales book Rs.2,500 was 

posted twice. 

PART C — (5 × 8 = 40 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) RÌUPõq® uPÁÀPÎ¼¸¢x \μõ\› uÁøn 

|õøÍ PnUQkP. 

©õØÖ^miß 

÷uv 

uÁøn 

(©õu[PÎÀ) 

öuõøP 

¹. 

01.03.2011 2 4,000 

10.3.2011 3 3,000 

05.04.2011 2 2,000 

20.04.2011 1 3,750 

10.5.2011 2 5,000 
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  Calculate average due date from the 
following information. 
Date of bill Terms Amount 

01.03.2011 2 4,000 

10.3.2011 3 3,000 

05.04.2011 2 2,000 

20.04.2011 1 3,750 

10.5.2011 2 5,000 

Or 

 (B) \μõ\› uÁøn |õÒ •øÓ°ß |ßø©PÒ 
¯õøÁ? 

  What are the advantages of average due 
data? 

17. (A) R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 
v¸ÁõÍº. S©μß {Ö©zvß i\®£º 31, 2013 
B® |õÍßÖ ö\À÷»miß £i¯õÚ 
C¸¨¤øÚU Põq® ÁøP°À Á[Q \›Pmk® 
£mi¯À JßÔøÚ u¯õ›UP. 

  Rs. 

(i) Á[Q°À ö\¾zv¯ Põ÷\õø»PÎÀ 

 Á`¼zx ÁμÁøÇUP¨£hõuøÁ 3,000

(ii) v¸. μõáúÂØS AÎzu Põ÷\õø» 

 CxÁøμ ö\¾zxøPUS  

 •ßÛø»¨£kzu¨£hÂÀø» 5,000

(iii) Á[Q Pmhn® ö\À÷»miÀ £ØÖ øÁUP¨£mkÒÍx 400

(iv) öμõUP Hmiß £i C¸¨¦ 4,000

(v) Á[Q¯õμõÀ AÎUP¨£mh uÒÐ£i 200
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  From the following details, make out a bank 

reconciliation statement for Mrs. Kumaran 

company as on December 31, 2013 to find out 

the balance as per pass book. 

  Rs. 

(i) Cheque deposited but not yet 

 collected by the bank 3,000

(ii) Cheque issued to Mr. Raju has  

 not yet been presented for payment 5,000

(iii) Bank charged debited in the pass book 400

(iv) Balance as per cash book 4,000

(v) Interest allowed by the bank 200

Or 

 (B) v¸. A¨xÀ ö\À÷»k 2013 áüß 30 À 

Á[Q°¸¨¦ ¹. 50,000 PõmiØÖ AÁ¸øh¯ 

öμõUP Hk ÷ÁÖ£õhõÚ C¸¨¦  {ø»ø¯ 

PõmiØÖ \›£õºzuvÀ RÌUPõq® ÂÁμ[PÒ 

QøhzuÚ. 

  (i) Põ÷\õø» AÁ©vUP¨£mhx ¹.500 

öμõUP HmiÀ £v¯ÂÀø» 

  (ii) áüß 18, 2013 À Á[Q°À ö\¾zv¯ 

Põ÷\õø» ¹. 7,000 ö\À÷»miÀ £vÄ 

Põn¨£hÂÀø» 
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  (iii) Á[QU Pmhn®  ¹. 600 öμõUP HmiÀ 
£v¯ÂÀø» 

  (iv) v¸. PŸ® AÁºPÐUS Âkzu 
Põ÷\õø»PÒ ¹.18,000 
£n©õUP¨£hÂÀø» 

  (v) v¸. £õ¾ uõß ö\¾zu ÷Ási¯ 
¹.6,000 I ÷|μi¯õP Á[Q°À 
ö\¾zvÚõº. 

   Á[Q \›Pmk® £mi¯À u¯õ›UP. 

  Mr. Abdul pass showed a balance of 
Rs.50,000 on June 30, 2013. Her cash book 
shows a difference balance on examination it 
is found that 

  (i) No record has been made in the cash 
book for a dishonour of a cheque for 
Rs.500 

  (ii) Cheque paid into bank amounting to 
Rs.7,000 were  paid into the bank on 
June 18, 2013 and the same had not 
been entered in the pass book. 

  (iii) Bank charges of Rs.600 have not been 
entered in the cash book. 

  (iv) Cheques amounting to Rs.18,000 issued 
to Mr. Karim not been presented for 
payment still. 

  (v) Mr. Balu who owned Rs.6,000 has 
directly paid the sum into the bank 
account. 

   Prepare a Bank Reconciliation 
Statement. 
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18. (A) ¤ßÁ¸® uPÁ¼ß £i ö£õx¨ ÷£÷μmiÀ 
PhÚõÎPÒ ÷£÷μmiß \›PmkU PnUøP 
u¯õº ö\´P. 

2014  

áÚÁ› 1 PhÚõÎPÒ öuõhUP C¸¨¦ 80,000

 Phß öPõÒ•uÀ 45,000

i\®£º 31 Phß ÂØ£øÚ 1,96,000

 PhÚõÎ°hª¸¢x ö£ØÓ öμõUP® 1,56,000

 AÝ©vzu uÒÐ£i 4,000

 ÁμÄUS›¯ Esi¯À 30,000

 ÂØ£øÚz v¸¨£® 17,500

 öPõÒ•uÀ v¸¨£® 6,000

 ÁõμU Phß 9,000

 ÁμÄUS›¯ Esi¯À ©ÖUP¨£mhx 5,500

 ÁμÄUS›¯ Esi¯¼ß uÒÐ£i 7,500

  Prepare the debtors ledger adjustment a/c 
from the general ledger a/c for the following 
information. 

2014   
Jan 1 Balance of debtors 80,000 

 Credit purchases 45,000 

Dec 31 Credit sales 1,96,000 

 Cash from debtors 1,56,000 

 Allowed discount 4,000 

 Bills received 30,000 
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2014   
 Return inwards 17,500 
 Return outward 6,000 
 Bad debts 9,000 
 B/R dishonoured 5,500 
 Rebate of debtors 7,500 

Or 
 (B) C¸¨£õ´Ä öÁÎ£kzuU Ti¯ ©ØÖ® 

öÁÎ¨£kzu C¯»õu ¤øÇPÒ ¯õøÁ? 

  What are the errors disclosed and not 
disclosed by the trial balance? 

19. (A) áÚÁ› 1, 2015 AßÖ  4,00,000 ©v¨¦ÒÍ 
C¯¢vμ® Áõ[P¨£mhx.  15,000 {ÖÄuÀ 
ö\»ÁõPÄ®,  10,000 ÁsiU Pmhn©õPÄ® 
ö\»ÁÈUP¨£mhx. ÷|º÷Põmk •øÓ°À 
Bsk ÷uõÖ® 10% ÷u´©õÚ® }UP¨£h 
÷Ásk®. PnUSPÒ JÆöÁõ¸ Bsk® 
©õºa 31 À •iUP¨ ö£ÖQßÓÚ. •uÀ 
Cμsk BskPÐUS C¯¢vμzvß «uõÚ 
÷u´©õÚ® öuõøPø¯ PnUQhÄ®. 

  Machinery was purchased on 1st January 
2015 for  4,00,000  15,000 was spent on its 
erection and  10,000 on its freight charges. 
Depreciation is charged at 10% perannum on 
straight line method. The books are closed on 
31st March each year. Calculate the amount 
of depreciation on machinery for the first two 
years. 

Or 
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 (B) áÚÁ› 1, 2016 AßÖ  25,000 US ö\õzx 
JßÖ Áõ[P¨£mhx. Bsk÷uõÖ® 
÷|º÷Põmk •øÓ°À ÷u´©õÚ® }UP¨£h 
÷Ásk®. Aaö\õzvß Gvº ÷|õUS® 

£¯ÚÎ¨¦ Põ»® 10 BskPÒ ©ØÖ® Auß 

CÖv ©v¨¦  1,000. PnUSPÒ JÆöÁõ¸ 
Bsk® i\®£º 31 À •iUP¨ö£ÖQßÓÚ. 
÷u´©õÚ ÂQu® PnUQmk. Cμsk 
BskPÐUS SÔ¨÷£mk¨ £vÄPÒ uμÄ®. 

  An asset is purchased on 01.01.2016 for  
 25,000. Depreciation is to be provided 

annually according to straight line method. 
The useful life of the asset is 10 years and its 
residual value is  1,000. Accounts are closed 
on 31st December every year. You are 
required to find out the rate of depreciation 
and give journal entries for first two years. 

20. (A) C¸¨£õ´Ä u¯õ›US® •ß PshÔ¯¨£mk 
¤ßÁ¸® ¤øÇPøÍ v¸zuÄ®. 

  (i) C¯¢vμ® {ÖÄÁuØS ö\¾zv¯ T¼  

 2,000 T¼ PnUQÀ £ØÖ 
øÁUP¨£mkÒÍx 

  (ii) ÂØ£øÚz v¸¨£® HmiÀ  1,000 
SøÓÁõP Tmh¨£mkÒÍx 

  (iii) ÂØ£øÚ HmiÀ  1,500 AvP©õPU 
Tmh¨£mkÒÍx. 
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  Rectify the following errors which were 
located before preparing  the trial balance. 

  (i) Wages paid  2,000 for the erection of 
machinery was debited to wages a/c 

  (ii) Sales returns book was short totalled 
by  1,000 

  (iii) The sales book was overcast by  1,500. 

Or 
 (B) C¸¨£õ´Ä u¯õ›US® ÷£õx PshÔ¯¨£mh, 

¤ßÁ¸® ¤øÇPøÍz v¸zu® ö\´¯Ä®. 

  (i) ö£õßÚμ\ÚõÀ  75 ©v¨¦ÒÍ \μUS 
v¸¨¤z uμ¨£mk AÁº PnUQÀ Gkzx 
GÊu¨£hõ©À EÒÍx 

  (ii) ¯õÈÛ°hª¸¢x ö£ØÓ öμõUP®  
 1,000 CßÝ® ÷£÷μmiÀ Gkzx 

GÊu¨£hÂÀø» 
  (iii) Ámi ö£ØÓx  300 CßÝ® ÷£÷μmiÀ 

Gkzx GÊu¨£hÂÀø». 

  Rectify the following errors which were 
located at the time of preparing the trial 
balance 

  (i) Goods of the value of  75 returned by 
Ponnarasan was not posted to his 
account 

  (ii) Cash received from Yazhine  1,000 
was not posted 

  (iii) Interest received  300 has not been 
posted. 

——––––––––– 


